Friday 22nd January – Silver (Q1 & 6) and Gold (all Q’s) Measurement Activity.

Remember:
Perimeter = add all the sides		Area of shape = b x h
Area of triangle = ½ b x h 		Area of parallelogram = b x h
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ANSWERS
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Make sure your measurements are in the same units!
10mm = 1cm 	100cm = 1m 	150cm = 1.5m
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If all the sides are whole centimetres, it is possible to make 4
different rectangles with on area of 30cm’.

The largest perimeter i & 2em and the smalest.

perimeter is 22¢m.

(Many more answers are poszible if the

sides are not whole centimetres.)
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6. The total of all three heights = 4.24sm.
This i greater than 3.75m.
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Area and Perimter

- How many different rectangles can you make with an
area of 30cm?

- What is the greatest perimeter and the smallest
perimeter you made?




image2.png
Heght Measurements

Three children have measured their height in different units of
measurement. If you added togather the height of all 3 children,
would the total be greater or less than 3.75m?

Tamara: 1.45m.
Bobby: 1370mm

Lubayna: 162.5cm
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Velame of a Cuboid (-]

A cuboid has the following dimensions:
0.75m, 65cm, 120mm

Which of the following represent the volume of the cuboid?
Tick the correct answer(s). (There may be more than one

right answer)
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Area of Tiangles and Paralllograms

Calculate the shaded area of this shape.

52em





